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@Par 3
E Hole NO. YARDS Average Agst.Par Eagle Birdie Par Bogey D—-Bogey T-Bogey others
1 17 205 3.42 042 0 2 76 50 4 0 0
2 8 173 3.41 0.41 0 8 69 48 7 0 0
3 13 160 3.33 0.33 0 13 71 40 7 1 0
4 3 148 3.31 0.31 1 14 68 42 6 1 0
@Par 5
HE Hole NO. YARDS Average Agst.Par Eagle Birdie Par Bogey D-Bogey T-Bogey others
1 10 541 5.49 0.49 0 11 68 36 13 2 2
2 4 524 5.31 0.31 0 11 80 31 9 1 0
3 6 520 5.25 0.25 0 11 85 29 6 1 0
4 15 482 5.21 0.21 0 17 79 30 3 3 0
@Par 4
E Hole NO. YARDS Average Agst.Par Eagle Birdie Par Bogey D—-Bogey T-Bogey others
1 12 388 472 0.72 0 6 50 56 16 3 1
2 18 431 4.55 0.55 0 3 65 53 11 0 0
3 1 405 452 0.52 0 9 54 62 6 0 1
4 7 423 452 0.52 0 3 65 59 4 0 1
5 2 376 445 0.45 0 9 67 44 11 1 0
6 16 373 4.45 0.45 0 8 72 39 11 2 0
7 14 436 4.39 0.39 0 5 74 49 4 0 0
8 9 362 434 0.34 0 14 75 34 3 5 1
9 5 421 433 0.33 0 11 70 47 4 0 0
10 11 403 432 0.32 0 8 81 39 3 0 1
@ LR— LR
Hole NO. YARDS Par Average Agst.Par Eagle Birdie Par Bogey D-Bogey T-Bogey others
1 405 4 452 0.52 0 9 54 62 6 0 1
2 376 4 4.45 0.45 0 9 67 44 11 1 0
3 148 3 3.31 0.31 1 14 68 42 6 1 0
4 524 5 5.31 0.31 0 11 80 31 9 1 0
5 421 4 433 0.33 0 11 70 47 4 0 0
6 520 5 5.25 0.25 0 11 85 29 6 1 0
7 423 4 452 0.52 0 3 65 59 4 0 1
8 173 3 3.41 0.41 0 8 69 48 7 0 0
9 362 4 4.34 0.34 0 14 75 34 3 5 1
ouT 3352 36 39.45 3.45 1 90 633 396 56 9 3
10 541 5 5.49 0.49 0 11 68 36 13 2 2
11 403 4 432 0.32 0 8 81 39 3 0 1
12 388 4 472 0.72 0 6 50 56 16 3 1
13 160 3 3.33 0.33 0 13 71 40 7 1 0
14 436 4 4.39 0.39 0 5 74 49 4 0 0
15 482 5 5.21 0.21 0 17 79 30 3 3 0
16 373 4 445 0.45 0 8 72 39 11 2 0
17 205 3 3.42 0.42 0 2 76 50 4 0 0
18 431 4 455 0.55 0 3 65 53 11 0 0
IN 3419 36 39.89 3.89 0 73 636 392 72 11 4
TOTAL 6771 72 79.33 7.33 1 163 1269 788 128 20 7




